Echec & Mat junior 125 — Solutions

Parcours du Pion

(1) 46.Wixc7#
(2) 99...2b4#
(3) 49...2e1#
(4) 43...&f2#
(5) 30...Wg2#
(6) 23... W3¢

Parcours du Cavalier

(1) 42.8xg6+

(2) 28.2xh7+ HHxh7 29.8xb3

(3) 39.2e7+ £xe7 40.Wxc1

(4) 19.%c1

(5) 34.2xe5 Wixe5 35.Wxho#

(6) 35.2d6 £xg5 [35...¥xd6 36.Wxf7#] 36.1h8#

Parcours du Fou

(1) 30.2c6+ £xc6 31.Wxc6#

(2) 20.22f7+ [20.2)xc6+ bxc6 21.2b7#] 20...%xf7 21.2xb7#
(3) 30.2xg6+ oxg6 31.Wh5#

(4) 40...Wxf1+ 41.xf1 Hol#

(5) 26...52xg3+ 27.¢eh1 Wixf1#

(6) 27...%xh2+ 28.cbxh2 Eh6+ 29.%h4 Exh4#



Parcours de la Tour

(1) 22.1xd7! Wxd7 23.2xfe#

(2) 32...%xd6! 33.82xd6 Ba1+ 34.%e1 [34.1f1 2e3+ 35.%h1 Bxf1#]
34...Exe1+ 35.2f2 Bc1 36.8xc1 £xc1-+

(3) 56...5)xed+! 57.5H)xed b1

(4) 49...2b5!

(5) 57...8xb3!

(6) 48...5)xe2 49.sbxe2 d1¥+! 50.2xd1 Eb1+ 51.2e2 Exh1-+

Parcours de la Dame

(1) 47.5)d3+ oxd5 48.5\b4+ sheb 49 fa#

(2) 27.82a7! Wixa7 28.d7 Ecd8 29.Wixg7#

(3) 37.2e7 h2 38.£f6 h1#+ [38...g5 39.2h8+ g6 40.8xh2+-] 39.s2d2 g5
40.2h8+ g6 41.8xh1 1-0

(4) 44.5d3! £h6 [44...a2 45.52xb2 a1 46.2h2#] 45.¢¢2 1-0

(5) 45.8h11 Bxf2+ 46.52g1+ 1-0

(6) 27.Wxe5! fxe5 28.5)6+ 2d8 29.8xd7+ c8 30.£66 Eb6 31.Hd5+ Exeb
32.8xc5+ b7 33.5xg4! 1-0



